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Q. No. 1 carries 1 mark each

Q. Nos. 2-6 carry 2 marks each
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Q. Nos. 19-22 carry 8 marks each
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Which function of management ensures work accomplishment
according to plan ? 1

AR N ST AT SpiE IR s fftse <

Give one example of policy adopted by business enterprises.
1

A AfSDH Al 92S mmﬁaﬁ%mqmm

Responsibility flows downward.
(Indicate whether True or False)
@
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In which year NSE was established ? 1 _

NSE &l i elfefoe grafse ¢

Which technique of scientific management violated the
principle of ‘unity of command’?

1
e AARBIER (TN D SR @mer Tl Teer w5 2

A decision is taken to raise capital for long term financial

needs of a company from certain sources. What is this
decision called ? 1

ol oA AR e ey 57 B carre e ez e By @
size 704 | 92 R & Fraig ace @ie am e

What is the other name of New Issue Market ? 1
Jor fafEeead AGIER = J5 Fi 2
Which is the most risky capital for a company ? 1
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2. What is strategy ? 2
CTIE 2

3. What is planning premises ? 2
S|f§Id ST (premises) 17

4. Write a short note on ‘return on investment’ as a modern technique
of control. 2
e oy @ e BoE Raee e eiEe [aw ot wEe TR
G |

5.  Why principles of management are important ? 2
ARBERR TifourE @ WP

6. Distinguish between delegation and decentralisation of authority.

2
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7. Write three limitations of planning. 3
AR o7 Ttiamet @il |

8. How does technological environment influence the working of a
business ? 3
e ke @ IR s frem deifte T@?
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Briefly explain three principles of directing. 3

o foqf TS Ao afa st

3
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Why entrepreneurship is re v vity ?

y garded as a creati 1vi iefly
et ative activity ? Briefl
explain 3

TEIROS (@ G FRA16 1 qea1 Rene T =02 A0 @l |

E.xplam- the importance of consumer protection from the point of
view of consumers.
3
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Or /g2«

Briefly explain any three functions of an entrepreneur 3
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Explain the techniques of scientific management. 5

frealEre ARbERE e e F4

How globalisation has affected business in India ? Explain 5
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14.
organisation structure ? 2+3
et SO e B @RIAe ReriE swoen PR e [GIREARCER
3l |

15. Explain five non-financial incentives which motivate the employees
of an organisation. 5
s oIS FHOTRINE (el (IR Ty AAip/G Sifie-Tealed REGEET
<4 |

Or / 934!

Explain the elements of directing. 5
o Somime B0

16. Analyse the relationship between planning and controlling. 5
i @ TR SOy APl A Rl el |

17. What is publicity ? Distinguish between advertising and publicity.

2+3
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18. Explain the functions of marketing. 5
AR FRTIE 901 6 |
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What is organisation structure ? Write three features of divisional
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20.

Or / 924

Explain five advantages of packaging. S
Packaging 43 7li5/0 A4 F=F el el |

Discuss the functions of management. (o]}
P
ARBIENIE S| S @ |
Or / g/t

What is levels of management ? Explain the functions of lower level

management. 345

AR B9 2 WawEa ARveg SERe] 3906 F@i |

What is training ? Explain any six off-the-job training methods
followed by the organisations. 2+6

AfdFe F12 A9l 2 Frge Az AR w6 Awie Wi @i
Or /9241

Explain the importance of staffing. Distinguish between

recruitment and selection. 5+3

i wwg A FE | e € ARIER A A mAe |

21. Explain the importance and objectives of financial planning.
o+3
e sffesaa @wg ¢ SOREPTIZ il e |
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208
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Distinguish between fixed and working capital. Explain the factors
that determine the amount of fixed capital needs. 3+S

391 @ 531 (Working Capital) JFs(G S04 A1 GTNe | ZIH e A
e ARl <R S

What is SEBI ? Discuss its functions. 2+6

SEBI $1? @& IRe! Seanpal S |
Or /9%

Distinguish between money market and capital market. Explain
the features of money market. 3+5
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